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Subject : GE_Q01-Q10_PGTHIN

Question ID:- 1

ENOUGH

Choose the word similar in meaning to the one given above :
(1) Sufficient

(2) Quantity

(3) Whole

(4) Quite

Options:-

.1, Option ID :- 1,
. 2, Option ID :- 2,
. 3, Option ID :- 3,

. 4, Option ID :- 4,
Answer Given:- 1, Option ID : -1

Question ID;- 2

HOARD

Choose the word opposite in meaning to the one given above :
(1) Arrange

(2) Boost

(3) Dump

(4) Decline
Options:-

.1, Option ID :- 5,
o 2' DPtiDﬂ ID ™ 6'
« 3, Option ID :- 7,

« 4, Option ID :- 8,
Answer Given:- 3, Option ID : -7

Question ID:- 3
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Identify the Part of Speech of the underlined word in the following sentence.
His health is no worse than before.

(1) Verb

(2) Adjective

(3) Adverb

(4) Conjunction

Options:-

.1, Option ID :- 9,
. 2, Option ID :- 10,
. 3, Option ID :- 11,

. 4, Option ID :- 12,
Answer Given:- 3, Option ID : -11

Question ID:- 4

He needs to do it .

Choose the option in which the above sentence has been changed into Passive Voice.
(1) He needs it to be done.

(2) He needed it to be done.

(3) It needs it to be done.

(4) Itis needed to be done by him.

Options:-

.1, Option ID :- 13,
. 2, Option ID :- 14,
. 3, Option ID :- 15,

. 4, Option ID :- 16,
Answer Given:- 2, Option ID : -14

Question ID:- 5

The teacher said to the students, “Why are you making a noise ?”
Choose the option in which the above sentence has been changed into Indirect Speech .
(1) The teacher asked why they were making a noise ?

(2) The teacher asked the students why they were making a noise.
(3) The teacher asked why were they making a noise.

(4) The teacher asked the students why are they making a noise.
Options:-

.1, Option ID :- 17,

. 2, Option ID :- 18,

. 3, Option ID :- 19,

- 4, Option ID :- 20,
Answer Given:- 2, Option ID : -18

Question ID:- 6




Arrange the following words/phrases into a meaningful and grammatically correct sentence.

(A) burst open

(B) in they

(C) the door

(D) and

(E) came

(1) (B) (D) (A) (E) (C)
(2 (©) (A) (D) (B) (E)
(3) (D) (B) (O) (E) (A)
(4) (A) (B) (©) (D) (E)
Options:-

.1, Option ID :- 21,
. 2, Option ID :- 22,
. 3, Option ID :- 23,

. 4, Option ID :- 24,
Answer Given:- 4, Option ID : -24

Question ID:- 7

[dentify the part in the following sentence that has an ERROR in it :

[ see / things / different / now.
(@  (b) (€) (d)

(1) (a)
(2) (b)
(3) (o)
(4) (d)
Options:-

.1, Option ID :- 25,
. 2, Option ID :- 26,
. 3, Option ID :- 27,

. 4, Option ID :- 28,
Answer Given:- 1, Option ID : -25

Question ID:- 8

[dentify the tense in which the following sentence is written.
He has been speaking in a loud voice

(1) Simple Present

(2) Present Perfect

(3) Present Perfect Continuous

(4) Present Continuous

Options:-

.1, Option ID :- 29,
. 2, Option ID :- 30,
. 3, Option ID :- 31,
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. 4, Option ID :- 32,
Answer Given:- 3, Option ID : -31

Question ID:- 9

Fill in the blank in the sentence given below by choosing out of the options that follow.
He bids fair to set his enemy

(1) out
(2) down
(3) off
(4) away
Options:-

.1, Option ID :- 33,
. 2, Option ID :- 34,
. 3, Option ID :- 35,
. 4, Option ID :- 36,

Answer Given:- 4, Option ID : -36

Question ID:- 10

Fill in the blank in the sentence given below by choosing out of the options that follow.
The clever trader worked

(1) 1into
(2) up
(3) upon
(4) out
Options:-

.1, Option ID :- 37,
. 2, Option ID :- 38,
. 3, Option ID :- 39,

- 4, Option ID :- 40,
Answer Given:- 2, Option ID : -38

his customers :

Subject : GH_Q11-Q20_PGTHIN

Question ID:- 11
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et feu U RNy @t ugeRt waitien Stud fasen st uae it -

afg 79 oo Ste foard & a1 w7 =1 frao & =& on w1 afe & ST gere gEd 1 2 Tgam
1 3TEd 21, 1 BH 379 WA ol 99 H TE L FWeh | Al v el foerg 6 9ed 6 e € gl o Hey A
S o eI STaeaeh ®9 § S © AU g9 o S @ie H 31cd= dc & dl 84 379 §H &l a9 H &
&L Hehl |
Fan =Afed 79 1 99 H W GFHA 8 2
(1) S g & o1 H S 1 3% @l 2 |
(2) SN gEY I B 9gaM | SAFfed Bl €
(3) S0 fRefe faamR] 9 a=t Iadl 2|
(4) SN FFAfaeR SfieA | o9 1 Y4 T8 Bl |

Options:-

.1, Option ID :- 41,
« 2, Option ID :- 42,
. 3, Option ID :- 43,

« 4, Option ID :- 44,
Answer Given:- 3, Option ID : -43

Question ID:- 12

Hrer fau T TRIYT Rt UgeRt Haltieh Stud faeamed s ST it -

gfe 79 e St faard di 89 77 1 FHE30 H 781 o1 9ol | Afe 26 STH g2 g i 21 99
%1 2TEd &, A1 B9 3794 1A &l 991 H 721 R gl | Afg g Frdes faarg # ued % o1l €, gud & gay
S o foTu 39T €9 9 S © AYT1 G5 o o/ @ie H a4 qcdl @ ol 89 319 H &l 991 § 78l
L A |

TR % STHHR GO o] STH-95ieht ot Ygdl
(1) &9 8, 37d: 19f9d 78l ©

2) WA H Y H FEE

3) W, w@efae o

4) ~$Eﬂ%ET?i-3ﬁﬂ:EﬂEFIT%T

(
(
(

Options:-

.1, Option ID :- 45,
. 2, Option ID :- 46,
. 3, Option ID :- 47,

. 4, Option ID :- 48,
Answer Given:- 3, Option ID : -47

Question ID:- 13

(% scanned with OKEN S

nnnnnn



et feu U RNy @t ugeRt waitien Stud fasen st uae it -

Afe 79 Fifae Sttee foard @1 &8 w7 o1 Fao 5 78 o 9okl | Afe 29 ST gt g8 i 81 989
1 377ed &1, 91 B9 3799 B i 99 H 7@ R g | Afe gy frefw faare § ved % el € o9l & ey o
S o eI STaeaeh ®9 § S © AU g9 o S @ie H 31cd= dc & dl 84 379 §H &l a9 H &
FL e |

‘... T Rl a1 H R R ekl | ST o WEifohd Wieg o1 HHTne] vTes, it et | Y g T

(1) HAEYEH
(2) T

(3) fed=
(4) fo=rg

N

L —

Options:-

.1, Option ID :- 49,
« 2, Option ID :- 50,
. 3, Option ID :- 51,

« 4, Option ID :- 52,
Answer Given:- 2, Option ID : -50

Question ID:- 14

e fou U RNy it UgeRt Waliteh Sfurd fasen st wae @it -

Ifg &9 3 faeh Siam fomd a1 89 59 =l 2301 | 981 o Wbt | 39S 86 ST e g9 ol 81 Jg 9
1 HIEH 81, O &H 379§ &l 99 H 781 L Hobl | Afq gn Frede faarg § ved & ot €, g6l & ey o
S o Tl 7w 9 § Sk © AU g8l o SN @iSiH H 3cd= dcdd & dl 89 A9 HH =l 99 H &
T Gehl |

79 &I 90 5 auf?ﬂ{:

(1) &84 9 dush gar &1 e
2) U % STl =l WIS 8
3)  eFfad ST=RuT BIEA @

4) T 9 gaY dre 2

(
(
(

Options:-

.1, Option ID :- 53,
. 2, Option ID :- 54,
. 3, Option ID :- 55,

. 4, Option ID :- 56,
Answer Given:- 3, Option ID : -55

Question ID:- 15
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et feu U RNy @t ugeRt waitien sfua fasen @ uae st -

4fe 79 e Site faare a1 89 57 1 fE30 | 7280 o 9ol | afe 26 STH g2 g9 i 214 989
1 3Ted &1, 1 &9 3794 O I 99 H Tal R il | gfg 89 e faare § v % ondt €, o9l & gay |
S o fou eTasas ®9 € 30 € 1991 §HU & < @ied H S dodl @ Al 89 3194 HA i 99 | &
T bl |
7fg a9l Bt 91 FEe Bl a1 ®
(1) Hehadr=ges e
2) fawnfe s are
3)  SAEIUF A
4) TourearEs 9

(
(
(

Options:-

.1, Option ID :- 57,
« 2, Option ID :- 58,
. 3, Option ID :- 59,

« 4, Option ID :- 60,
Answer Given:- 1, Option ID : -57

Question ID:- 16

‘g9 F qETEETE v ©

(1) A, 3RO
(2) HrHM, 3TEA
(3) oTUE, &S
(4) R, I
Options:-

.1, Option ID :- 61,
. 2, Option ID :- 62,
. 3, Option ID :- 63,

. 4, Option ID :- 64,
Answer Given:- 1, Option ID : -61

Question ID:- 17

TTH Y155 1 See0 Td ¢ 7
(1) =d
(2) TerEd
(3) §

(4) S

Options:-
.1, Option ID :- 65,
. 2, Option ID :- 66,
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. 3, Option ID :- 67,

. 4, Option ID :- 68,
Answer Given:- 4, Option ID : -68

Question ID:- 18

qHe g = |@fu 2
(1) T=rds

(2) A

(3) FHEN

(4) fIoFa
Options:-

.1, Option ID :- 69,
. 2, Option ID :- 70,
. 3, Option ID :- 71,

. 4, Option ID :- 72,
Answer Given:- 3, Option ID : -71

Question ID:- 19

39T T TH 1 3RV el € 2

(1) FUHHE
(2) THITH
(3) W92
(4) gfafe
Options:-

.1, Option ID :- 73,
. 2, Option ID :- 74,
. 3, Option ID :- 75,

. 4, Option ID :- 76,
Answer Given:- 2, Option ID : -74

Question ID:- 20

"I A W g4 en Tean 1’ are & W@iferd 9 H R ©

(1)
(2)
(3) A
(4) HYSH
Options:-

.1, Option ID :- 77,
. 2, Option ID :- 78,
. 3, Option ID :- 79,
. 4, Option ID :- 80,
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Answer Given:- 2, Option ID : -78
Subject : GA_Q21-Q30_PGTHIN

Question ID:- 21

When a Proclamation of Emergency is in operation in India, the President by an order can suspend
the right to move courts for the enforcement of which of the following rights ?

(1) Right to be protected from punishment for the same offence more than once

(2) Right of an accussed to be protected from being compelled to be a witness against himself/
herself

(3) Right against exploitation in relation to traffic in human beings
(4) Right not to be deprived of personal liberty except according to procedure established by law

W& YRd H SAITAeRTel o1 SEEYI @1 &t € o1 Tgufa U ey & i fefafaa sifusri § 9 feas
Yo & fefu =rarerd §iH & SAfusr = fHefad & Hehd 8§ 2

(1) ek & 3790y o forw weh | sifyes ar <fea fopn ST | Ham &1 sfuan

(2) forelt ARt =1 wd & ufd Uk e S & 9 fRu S | Hem o sifeeer
(3) HME AR % Ha9 H ANV & fawg AfHER

(4) Tafa gra wenfug s & faam SAfas @I 9 df9d e §m &1 e fusr
Options:-

.1, Option ID :- 81,
. 2, Option ID :- 82,
. 3, Option ID :- 83,

. 4, Option ID :- 84,
Answer Given:- 4, Option ID : -84

Question ID:- 22

What is the initiative launched by the Ministry of Health and Family Welfare of India which enables
patient to doctor tele-consultation called ?

(1) Jeevan Rakshak

I

(2) E-Sanjeevani
(3) Ayushman Bharat Tele Kendra
(4)

4) Arogya Vartalap

YA o TR AR URER Hedol HAad gR JLis] &l St ¥ 2e-TH SUeed U aq U8 &l 718 Jad
FT AT ?

(1) i @&

(2) E-HsiraHt

(3) HAHE YA el s
(4) AR FHEY

Options:-
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.1, Option ID :- 85,
« 2, Option ID :- 86,
. 3, Option ID :- 87,

. 4, Option ID :- 88,
Answer Given:- 2, Option ID : -86

Question ID:- 23

Which of the following figures faced an impeachment trial in the British Parliament ?

(1) Bal Gangadhar Tilak
(2) Warren Hastings

(3) Lord Mountbatton
(4) M.K. Gandhi

ffafaa 5 9 fegq fafew 99 9 weif=am fa=mor &1 9 foan on 2

(1) =ret TR faeres
(2) dhe efE

(3) i HISZHA
(4) UH.h. W
Options:-

.1, Option ID :- 89,
. 2, Option ID :- 90,
. 3, Option ID :- 91,

. 4, Option ID :- 92,
Answer Given:- 4, Option ID : -92

Question ID:- 24

Which of the following mineral deposits are formed by the decomposition of rocks rich in aluminium

silicates ?

(1) Manganese deposits
(2) Bauxite deposits

(3) Copper deposits

(4) Limestone deposits

Tty fafeshe 9 Ry =22Fl & uaed | & 9 |@f1e Yer &1 fmio g g 2

(1) HHEE 92R
(2) EiFEEE YER
(3) el 98R

(4) FATHRER SR
Options:-

.1, Option ID :- 93,
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. 2, Option ID :- 94,
. 3, Option ID :- 95,

« 4, Option ID :- 96,
Answer Given:- 4, Option ID : -96

Question ID:- 25

The Treaty of Maastricht resulted in the establishment of which of the following ?
(1) The World Bank (WB)

==

()

(2) The European Union (EU)
(3) The World Trade Organization (WTO)
(4) The Association of South East Asian Nation (ASEAN)

A= 9y & aftomrasy fEgent e g8 9 ?
(1) fava 9=+ (s=g i)
(2) U EE (3 )
(
(

3) fava =amMR HreA (=g 2 &)
4) SfEFH (YUY § TUA)

Options:-

.1, Option ID :- 97,
. 2, Option ID :- 98,
. 3, Option ID :- 99,

- 4, Option ID :- 100,
Answer Given:- 3, Option ID : -99

Question ID:- 26

Which microorganism causes Malaria ?
(1) Bacteria

)

(2) Virus
(3) Protozoa
(4) Genus Morbillivirus

fore gewsiia | Haifn ara1 & 2
(1) e

(2) Temmy

(3) HIErSHsT

(4) SFY gRfde! 9EE

Options:-

.1, Option ID :- 101,
« 2, Option ID :- 102,
. 3, Option ID :- 103,
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. 4, Option ID :- 104,
Answer Given:- 3, Option ID : -103

Question ID:- 27

Where is the sound produced in humans ?
(1) Windpipe

I

(2) Vocal cords
(3) Larynx
(4) Abdomen

TN

A4 | &3 Fel 39— 2l g 7

(1) vargal

(2) A

(3) %3

(4) 3
Options:-

.1, Option ID :- 105,
. 2, Option ID :- 106,
. 3, Option ID :- 107,

. 4, Option ID :- 108,
Answer Given:- 2, Option ID : -106

Question ID:- 28

Who among the following players won the FIFA World Cup 2022 ‘Golden Glove” award ?
(1) Emiliano Martinez

2

(2) Yassine Bounou
(3) Dominik Livakovic
(4)

4) Jordon Pickford

TIF des Y 2022 H ‘Tieed Tod’ o R feg faargl 3 S 2

(1) UHIfTaH qEHs
(2) AET I=ATS

(3) sifafrs feamnifas
(4) SiEd fopwe
Options:-

.1, Option ID :- 109,
. 2, Option ID :- 110,
. 3, Option ID :- 111,
. 4, Option ID :- 112,
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Answer Given:- 3, OptionID : -111

Question ID:- 29

Who among the following authors won the ‘Sahitya Akademi Yuva Puraskar 2022" in Urdu
language ?

(1) Imran Akif Khan
2) Magsood Aafaque
3) Saliha Siddiqui

(
(
(4) Gh, Nabi Kumar

I 91§ ‘Hifecd sreTeH Ja1 YR, 2022 Y oiEe i foer ?
(1) SHUE FhIE @

(2) Hehyg 3ATHhlh
(3) wiferar fagfeet
(4) 7. T FEHR
Options:-

.1, Option ID :- 113,
. 2, Option ID :- 114,
. 3, Option ID :- 115,

. 4, Option ID :- 116,
Answer Given:- 2, OptionID : -114

Question ID:- 30

Which of the following has the least memory capacity ?
(1) Disc Memory

(2) CD ROM
(3) Main Memory
(4) Cache Memory

f=fafad °§ 9 g 590 aua 999 &9 © 7

(1) fe=r qui

(2) U

(3) HF HER

(4) HIU HER
Options:-

.1, Option ID :- 117,
. 2, Option ID :- 118,
. 3, Option ID :- 119,
. 4, Option ID :- 120,
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Answer Given:- 4, Option ID : -120
Subject : RA _Q31-Q35_PGTHIN

Question ID:- 31

Choose the correct alternatives that will continue the same pattern and replace the question mark
(?), in the following number series.

99, 33,36, 12, 15, 5, 1
)
)

)
)

— — — p—
= 0 N =
R O = N

Y 9@ faseq o1 =74 +i S Ffafad e gaen J 36t T2 &1 Sl W@ AR 999 9% (2) &1 ®=&H o
99, 39,36, 12, 195, 9, ?

(1)
2)
3)
4)

QC O = N

(
(
(

Options:-

.1, Option ID :- 121,
. 2, Option ID :- 122,
. 3, Option ID :- 123,

« 4, Option ID :- 124,
Answer Given:- 2, Option ID : -122

Question ID:- 32

A, B,C, D, E, F and G are standing in a row facing towards East. ‘E’ is at an extreme end and has
‘G’ as his neighbour. ‘B’ is to the left of ‘D’ and ‘F’ is to the right of ‘D’. ‘D’ is at the fourth position
from the South end. There is only one person between ‘D" and “A". “C’ is to the right of ‘A’. Who
is standing to the right of G ?

() B
(2) C
(3) D
(4) E

A, B,C,D,E, F 3R G Yd ! 3R He &l UH Ufad § @S €1 ‘E' U 3ifaq ¥R W § 2R ‘G’ 39H veidt
1B, D FEE AR TANF, D’ F e AR T ‘D SR SR Y 919 =H W | ‘D 991 ‘A’ & §r had
TF AR ‘CL A F SR AR ‘G F AT SR B TS § 2

(1) B
2) C
3) D
(4) E

Options:-
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.1, Option ID :- 125,
. 2, Option ID :- 126,
. 3, Option ID :- 127,

. 4, Option ID :- 128,
Answer Given:- 1, Option ID : -125

Question ID:- 33

Aman is facing south - east and move 5 m forward, turns right and move 5 m and again turns
right and move 5 m. Which direction is he from his initial position ?

(1) North
(2) North - East
(3) South - West
(4) South

379 o1 Hg G404 1 3 & 3R 98 5 5. 30 F&dl &, a1 S g5 5 5. 30 gedl & a1 fr el 3R
T 5 HI. 20 dedl § 1 oF9 98 9 IRfyes fufq 4 fru fem d 22

(1) 3

(2) SR-

(3) wfEu-ufv=m

(4) =fEgo
Options:-

.1, Option ID :- 129,
. 2, Option ID :- 130,
. 3, Option ID :- 131,

. 4, Option ID :- 132,
Answer Given:- 3, Option ID : -131

Question ID:- 34

A question is given below followed by two statements numbered (I) and (II) each containing some
information. Decide which of the statements is/are sufficient to answer the question

Q: Who is tallest among Monika, Sharad, Nitin and Ratna ?
(I) Ratna is taller than Monika but shorter than Nitin
(II) Sharad is shorter than Monika

(1) The statement (I) alone is sufficient to answer the question while the statement (II) alone is
not sufficient to answer

(2) The statement (II) alone is sufficient to answer the question while the statement (I) alone is
not sufficient to answer

(3) Both statements (I) and (II) together are necessary to answer the question
(4) Both statements (I) and (II) together are not sufficient to answer the question
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= we weA fean wn § fSws A e (1) 3R (1) fou o € 59 v § o s 61 1 ') a3 foi
FHifeu foF 1 J/8 F99 999 F1 IW o4 & foau g 272 |

999 : Hifen, IRE, fafas oIk T 8 | 9ag &a & © 2

(1) Tom, Wife | det @ fog ffaa @ 311 81

(I1) 9E, T4 | B 2|

(1) 31ehet YA (I) B 99 &1 I o1 o AT T4 8 Safeh 3hel &9 (11) W99 ol 3 &4 o g 94T
ERES

(2) 3okl U (M) & U9 1 I a1 & a0 T g Sfafeh fhct A (1) W99 1 S g1 & e v
TR 2

(3)  F¥A (1) 3R F2H (II), G191 THert 999 1 I &4 & folu, 3769 ¢ |
(4) A (I) 3R FYA (I1), a1 91 Tt ot 999 1 I & & fog v =& 2|

Options:-

.1, Option ID :- 133,
. 2, Option ID :- 134,
. 3, Option ID :- 135,

. 4, Option ID :- 136,
Answer Given:- 3, Option ID : -135

Question ID:- 35

The following figure consists of three intersecting circles, each representing a group of persons
who are Honest, Intelligent and Professionals

Intelligent Honest

Professionals

Which number represents the persons who are Intelligent and Professionals but not honest ?
(1) 6

(2) 8
(3) 11
(4) 13
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frafafad o= d F v ga fou mu € fad wee damer, sfgam 3ik Wer =afaaqi & 9qe 1 i
gl

RS $TRR
G

UgTa
%A Hl HeA 37 SAfFdl =l Al & 31 GG R GER di § fohd SHAGR 781 2
(1) 6
(2) 8
(3) 11
(4 13
Options:-

.1, Option ID :- 137,
. 2, Option ID :- 138,
. 3, Option ID :- 139,

. 4, Option ID :- 140,
Answer Given:- 4, Option ID : -140

Subject : CL_Q36-Q40_PGTHIN

Question ID:- 36

Which of the following is not a popular example of web based search engines ?
(1) Bing

(2) Edge
(3) Yahoo
(4) Google

fr=fafad 9§ 9 S-91 99 S1Eid 99 §519 &1 U dlehiad Sl -8 & 2

(1) fem
2
(3) g
(4) e
Options:-

.1, Option ID :- 141,
. 2, Option ID :- 142,
. 3, Option ID :- 143,

. 4, Option ID :- 144,
Answer Given:- 1, Option ID : -141
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Question ID:- 37

Rich text format refers to :
(1) Unformatted text

)

(2) Formatted text
(3) Hyper text
(4) Text with hypermedia

fg T wnde &1 379 B

(1) AFHIEE 2

(2) WHfZE IF2

(3) BEW THZ

(4) TEWHTEA T TR

Options:-

.1, Option ID :- 145,
. 2, Option ID :- 146,
. 3, Option ID :- 147,

- 4, Option ID :- 148,
Answer Given:- 4, Option ID : -148

Question ID:- 38

Study the list of feature’s given below.

() Page layout

(i) Zoom option

(iii) Basic formulas and calculation

(iv) Adding images

Which of the above features are available in both MS-Word and MS-Excel ?
(1) (i), (ii), (iii) and (iv)

2

(2) (i) and (ii) only
(3) only (i), (ii) and (iv)
(4)  only (ii) and (iv)
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9 &1 T2 BER-gET 1 IEE Hifeu |

(i) 99 AA-37132

(i) SH A

(iii) o9 FHATS TS Feparvid

(iv) ufen safss

I9ad H § -4 el UH UH-9€ 3N UH U9 Ua9d g1 5 ed © 7

(1) (i), (ii), (iii) 3R (iv)
(2) HAA (i) IR (i)
(3) A (i), (i) IR (iv)
(4) I (ii) 3T (iv)
Options:-

.1, Option ID :- 149,
. 2, Option ID :- 150,
. 3, Option ID :- 151,

« 4, Option ID :- 152,
Answer Given:- 1, Option ID : -149

Question ID:- 39

Which of the following is the best and correct definition of an operating system ?
(1) A program that manages all the other application programs in a computer
( A Software that helps configure, optimize and analyze a computer

(3) A program that is designed to carry out a specific task other than operation of the computer
(4)

A set of instructions, data or programs used to execute specific tasks.

freafafad § ] siqfen fawen & 949 3R g8 gftam SE-5i 8 2

(1) Ueh 91U S et § 3721 Bt Uiy Ul &1 349 idl ¢ |

(2) U HiRagT S fohdl Hr2ey &l 9uAEy a4, NeAEs 37 R faveraw 3 § e & § |
(3) WS WRITH ST HFE % HAYWH & e 37 fafere #m % & fau fese fHan mn 2

(4) U fafere &/ &3 8 Y S, SR SAY9d Y F 9= |

Options:-

.1, Option ID :- 153,
. 2, Option ID :- 154,
. 3, Option ID :- 155,

. 4, Option ID :- 156,
Answer Given:- 2, Option ID : -154

Question ID:- 40
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Which of the following devices convert human-understandable data and programs into a form
that computer can process ?

(1) Output devices

2) Input devices
3) Storage devices

(
(
(

4) Memory devices

Frfafad 5 9 E-4 feary 9ma 99@Eara 311 SR 9™ 61 39 9 § ardl ¢ 59 Fre 96y &1

(1) #AEeYe feasy
(2) TYe feamH
(3) WS feary
(4) wHHE fearyg
Options:-

.1, Option ID :- 157,
. 2, Option ID :- 158,
. 3, Option ID :- 159,

- 4, Option ID :- 160,
Answer Given:- 2, Option ID : -158

Subject : UL_Q41-Q55_PGTHIN

Question ID:- 41

What is cognitive maturation ?
(1) Ability to feel

(2) Ability to think

(3) Ability to act

(4) Ability to smile

R

‘T gfudedr’ & @ 7
(1) AFYE & B I
(2) HrEA & ARl

(3) @™ A I Al
(4) TEHTA I FrEd
Options:-

.1, Option ID :- 161,
. 2, Option ID :- 162,
. 3, Option ID :- 163,

. 4, Option ID :- 164,
Answer Given:- 1, Option ID : -161
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Question ID:- 42

'Home-community relation” can be established by :
(1) Teachers

(2) Parents

(3) Management

(4) Students

“-guerE Hay' feiferd § 9 fopyes g venfud faen s gehdr 2

(1) SATTH
(2) - o
(3) wEYH
(4) forzme
Options:-

.1, Option ID :- 165,
. 2, Option ID :- 166,
. 3, Option ID :- 167,

. 4, Option ID :- 168,
Answer Given:- 2, Option ID : -166

Question ID:- 43

The deviation of moral behaviour of the child related to :
(1) Affective domain

(2) Cognitive domain
(3) Psychomotor domain
(4) Emotional domain

ATeA5 o Aldeh Hder H fa=gaq (fauys) F=ifeg d 9 foug 9efua 22
(1) HTEATHS &3

(2) HIATHSF &

(3) HANIdH &

(4) |idfTE &
Options:-

.1, Option ID :- 169,
. 2, Option ID :- 170,
. 3, Option ID :- 171,

- 4, Option ID :- 172,
Answer Given:- 4, Option ID : -172

Question ID:- 44
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The “sense of belongingness’ could be developed in a child through :
(1) Community service

(2) Excursion
(3) Morning Assembly
(4) Library

s § fr=ifera § 9 forg wmeam 9 stredtadn =1 v’ faesfag foran s gear 82
(1) YR o

(2) HAEFEE A

(3) WId:RIA G

(4) g AR E (M
Options:-

.1, Option ID :- 173,
. 2, Option ID :- 174,
. 3, Option ID :- 175,

- 4, Option ID :- 176,
Answer Given:- 1, Option ID : -173

Question ID:- 45

Development of ‘self-control” among children can be achieved through :
(1) process of socialisation

I

process of socio - emotional learning

(2)
(3) participative learning
(4)

peer learning

qierehl | ' 3eq-Taan’ fasrfaa =@ =1 @e feiferd § 9 foraes wream 9 gre o5 < 9o © 2

(1) HHSTHT 1 TehHH

(2) HHEISH-HidfF A gehe
(3) wfdumit sifenrs

(4) HHHET FAfH

Options:-

.1, Option ID :- 177,
. 2, Option ID :- 178,
. 3, Option ID :- 179,

. 4, Option ID :- 180,
Answer Given:- 2, Option ID : -178

Question ID:- 46
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The diagnostic assessment of learner addresses the following :
(1) Strong areas

(2) Strong and weak areas
(3) Only weak areas
(4) Overall personality

SAferTeRat % e gedisa 9 fifea 8 3 frge Frearon g g2

(1) vaa 98

(2) Yad 3R gael 94
(3) hHad gadl 94
(4) EHY Al
Options:-

.1, Option ID :- 181,
. 2, Option ID :- 182,
. 3, Option ID :- 183,

. 4, Option ID :- 184,
Answer Given:- 3, Option ID : -183

Question ID:- 47

The main aim of Education is

(1) Earning

(2) Learning

(3) Living

(4) Transformation

foreq =61 q=a 3599 2
(1) =TSH

(2) 3fErTH

(3) it frate
(4) TG
Options:-

.1, Option ID :- 185,
. 2, Option ID :- 186,
. 3, Option ID :- 187,

- 4, Option ID :- 188,
Answer Given:- 4, Option ID : -188

Question ID:- 48
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The school 1s

(1) Centre for learning
2) Centre for socialisation
3) Place of knowledge

(
(
(4) Institution of discipline
IEEIGE! % :

(1) 3o =1 %=

(2) TSI I Fg

(3) FH 9IS 1 ¥H

(4) SAAITHA I FEA

Options:-

.1, Option ID :- 189,
. 2, Option ID :- 190,
- 3, Option ID :- 191,

. 4, Option ID :- 192,
Answer Given:- 2, Option ID : -190

Question ID:- 49

When there is no target placed for teaching and learning, it would come under ?
(1) Informal Education

(2) Adult Education
(3) Non formal Education
(4) Formal Education

9 A 3R AT % fau e afdd = T8l 81 9 g8 Aeiied 9 9 59 g 5 s ?

(1) &S (3TFH)

(2) 9 faem

(3) SHAMg=ER foren

(4) Arg=nfies fran
Options:-

.1, Option ID :- 193,
. 2, Option ID :- 194,
« 3, Option ID :- 195,

. 4, Option ID :- 196,
Answer Given:- 3, Option ID : -195

Question ID:- 50
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What is ‘Development’ in child’s growth ?
(1) Qualitative change

(2) Quanttative change
(3) Tangible change
(4) Social change

A i Gafg § fawm’ # g ?

(1) ToTeHe gfEd=

(2) HEREE gfEdH

(3) ardfas (39) 9fEd
(4) gmifss gfEd
Options:-

.1, Option ID :- 197,
. 2, Option ID :- 198,
. 3, Option ID :- 199,

. 4, Option ID :- 200,
Answer Given:- 1, Option ID : -197

Question ID:- 51

Which one of the following is powerful social agent to influence the child ?
(1) School

(2) Media
(3) Teacher
(4) Parent

T 1 yuifad & & fau fF=ifea 9§ 9 o0 afaaenedt gmnfsers qeay 2 2

(1) faEme™
(2) Hifem
(3) HEATIH
(4) -
Options:-

.1, Option ID :- 201,
. 2, Option ID :- 202,
. 3, Option ID :- 203,

- 4, Option ID :- 204,
Answer Given:- 4, Option ID : -204

Question ID:- 52

(¥ Scanned with OKEN Scanner



The Juvenile delinquency can be dealt :
(1) Through chemotherapy

—
I

)  Through warmth and Emotional support
(3) Counselling
)

(4) Peer learning

foReTR 3190y &1 Frearor fofen s gan €

(1) A fafea (FEYE) & 9reaq 3
(2) @fdshan 3R WiEATcHE TEAn & "I |
(3) UTHY & HIEAH |

(4) HuHEE 3T

Options:-

.1, Option ID :- 205,
. 2, Option ID :- 206,
. 3, Option ID :- 207,

. 4, Option ID :- 208,
Answer Given:- 2, Option ID : -206

Question ID:- 53

How can you understand ‘the learner” ?
(1) Through his/her habits

—

)

(2) Through marks/grades
(3) Through the behaviour observed without their knowledge
(4) Social activity

A * sAfeTHeRdl’ o FH HHH Hehd © 2

(1) 3TI el 9

(2) HH R UId HH/AS 9

(3) 3! SR & foa1 2 39 Ufead s9eer 4§
(4) grrfses nfafafy 3§

Options:-

.1, Option ID :- 209,
. 2, Option ID :- 210,
. 3, Option ID :- 211,

- 4, Option ID :- 212,
Answer Given:- 4, Option ID : -212

Question ID:- 54
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What is the purpose of school supervision ?
(1) Fault finding

(2) Administrative requirement
(3) Evaluation
(4) Guidance and support
femrmer & qdaeror = F#1 YA € 2
(1) fEsreym
(2) I weEtTe Afardar €
(3) TR
(4) HFIEYHE AR Ham
Options:-

.1, Option ID :- 213,
. 2, Option ID :- 214,
- 3, Option ID :- 215,

- 4, Option ID :- 216,
Answer Given:- 4, Option ID : -216

Question ID:- 55

The contribution of J.B. Watson in Education is

(1) Constructivism

()

(2) Behaviourism
(3) Cognitivism
(4)

4 Connectivism

foren & &3 § S, 9regq 9 9 &9 9 379+ areE fean 2

(1) TEA1ER

(2) HdeRdRE
(3) HIFAHFAEE
(4) HHIAERE

Options:-

.1, Option ID :- 217,
. 2, Option ID :- 218,
. 3, Option ID :- 219,

- 4, Option ID :- 220,
Answer Given:- 3, Option ID : -219

Subject : UTL_Q56-Q70_PGTHIN

Question ID:- 56
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Which one of the following environmental factor enhances learning ?
(1) Size of classroom

(2) Comfortable furniture

(3) Good ventilation
(4)

4 Decorated classroom

f=ifera § | forw gaieoia R 9 31ferm &1 Saga i § 2
(1) h&T =l AT

(2) SARTHEE A=
(3) STH 4rdrE-
(4) HHfSId e

Options:-

.1, Option ID :- 221,
. 2, Option ID :- 222,
. 3, Option ID :- 223,

. 4, Option ID :- 224,
Answer Given:- 3, Option ID : -223

Question ID:- 57

What do you mean by ‘Discipline’ in child ?
(1) External behaviour

(2) Body language
(3) Internal behaviour
(4) Action through Internal behaviour

T H  STRmEE | sTeRT A i ® 2

(1) e HTER

(2) IR I ure- 4

(3) A 98N

(4) HAARF SRR % HIEAH § FH

Options:-

.1, Option ID :- 225,
. 2, Option ID :- 226,
. 3, Option ID :- 227,

. 4, Option ID :- 228,
Answer Given:- 1, Option ID : -225

Question ID:- 58
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The personal trait of child ‘Honesty’ comes under :

(1)

()

(2)
(3)
(4)

Syllabus
Curriculum
Hidden Curriculum
Text book material

go & Al T TS fohaeh sl star @ 2

—
—
S

~J

(2)
(3)
(4)

- 2

YlddshH

PIEZER]
IEXIRIGRER

qrSTgieh QT

Options:-

.1, Option ID :- 229,
. 2, Option ID :- 230,
. 3, Option ID :- 231,

. 4, Option ID :- 232,
Answer Given:- 3, Option ID : -231

Question ID:- 59

The Assessment of learner is done to find out :

(1)

2

(2)
(3)
(4)

ATl 1 Hedich F=ifhd § | Fd & o forg foan st g1
faer 3= fSem yatorar wr &2 &
geel ged fored weam sTufed @

(1)
(2)
(3)
(4)

Subject knowledge mastered
Weak areas which need support
Aptitude

Ability to cope with stress

Afeia

a9 f9es &1 G

Options:-

.1, Option ID :- 233,
. 2, Option ID :- 234,
. 3, Option ID :- 235,

. 4, Option ID :- 236,
Answer Given:- 2, Option ID : -234

Question ID:- 60
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What should be the quality of successful teacher ?
(1) Good communication

(2) Positive attitude

(3) Dynamism
(4)

)

4 Magnetic personality

s el fo1eres § 341 01 21 ey, 2
(1) 99 Hyuo

(2) HhreHe 3tfvgid

(3)  Tifauiterd

(4) 2AERYe SHAfHe

Options:-

.1, Option ID :- 237,
. 2, Option ID :- 238,
. 3, Option ID :- 239,

. 4, Option ID :- 240,
Answer Given:- 2, Option ID : -238

Question ID:- 61

‘Collaborative group work” among children comes under :

(1) Behaviarism
(2) Constructivism
(3) Connectivism
(4) Cognifivism

arerent | wewfrarens aqe #r’ Freifea ° | s sfafa e g2
(1) ATRRATE

(2) TEAER

(3) HHFARE

(4) HIAFAHEA 918

Options:-

.1, Option ID :- 241,
. 2, Option ID :- 242,
. 3, Option ID :- 243,

- 4, Option ID :- 244,
Answer Given:- 1, Option ID : -241

Question ID:- 62
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‘Learning by doing’ is :

(1) Problem solving

(2) Laterd thinking

(3) Divergent thinking
(4) Experiential learning

‘T F0 F Hregs 1§ e ©

(1) FHE HHHH
(2) ifgee e
(3) AYER f=e
(4) gt sAfyy
Options:-

.1, Option ID :- 245,
. 2, Option ID :- 246,
. 3, Option ID :- 247,

. 4, Option ID :- 248,
Answer Given:- 1, Option ID : -245

Question ID:- 63

Which one of the following is cognitive challenge among Adoloscants ?
(1) Extravertism

(2) Intravertism

(3) Egocentric

(4) Aggression

fr=ifera 9 9 a1 fReiy/fRenfal & weyl § SamHrds Al @ 2
(1) afeqeEt &

2) SHaq@l B

3) 3E Hhigd

4)  AHHE BT

(
(
(

Options:-

.1, Option ID :- 249,
. 2, Option ID :- 250,
. 3, Option ID :- 251,

- 4, Option ID :- 252,
Answer Given:- 3, Option ID : -251

Question ID:- 64
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What is the basic role of teacher in classroom ?
(1) Teaching

(2) Assessment

(3) Control

(4) Inspiring

FHEH FAAYF 1 gei i 1 8 ?
(1) AEAMYA

(2) HeHAHA

(3) THEEm

(4) 9N ENG & €9 H e fate
Options:-

.1, Option ID :- 253,
. 2, Option ID :- 254,
. 3, Option ID :- 255,

. 4, Option ID :- 256,
Answer Given:- 4, Option ID : -256

Question ID:- 65

Which one of these is essential for learning ?
(1) Effort

(2) Interest
(3) Attention
(4) Concentration
sAfermy & feru f=ifera o | =7 eufer 872
(1) 94iE
(2) ==
(3) ®AH
(4) UshIIdl
Options:-

.1, Option ID :- 257,
. 2, Option ID :- 258,
. 3, Option ID :- 259,

- 4, Option ID :- 260,
Answer Given:- 4, Option ID : -260

Question ID:- 66
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‘Prohibition of unrecognized schools” dealt by :

(1) NEP-2020
(2) POA 1992
(3) RTE Act. 2009
(4) NPE-1986

“T-Ar=ramTd faemerl 1 yfausy’ 1 Seog fAeifed § 9 faay fm mn 82
(1) U foen #ifd, 2020 (TA.3.41.)

(2) U™ 3HTE THH, 1992 (91.31.T,)

(3) foean =1 stfuer sAfafEm, 2009

(4) g Toved i, 1986 (TA.GLE.)

Options:-

.1, Option ID :- 261,
. 2, Option ID :- 262,
. 3, Option ID :- 263,

. 4, Option ID :- 264,
Answer Given:- 2, Option ID : -262

Question ID:- 67

The newly proposed curriculum design as per NEP-2020 :
(1) 5+3+3+4

(2) 5+3+4+4
(3) 10+2+3+4
(4) 6+2+3+2

gt foen Hifd, 2020 % STER B g H yEfad geg=dl $1 s ¢

(1) 5+3+3+4
(2) S5+3+4+4
(3) 10+2+3+4
(4) 6+2+3+2
Options:-

.1, Option ID :- 265,
. 2, Option ID :- 266,
. 3, Option ID :- 267,

. 4, Option ID :- 268,
Answer Given:- 1, Option ID : -265

Question ID:- 68
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Classroom observation by supervisor would lead to

(1) Analysis of teaching.

(2) Enhancement of learning.
(3) Administrative requirement will be fulfilled.
(4) Learning gaps can be filled and remediation can be provided for academic excellence.

e R HEl Y& & Helawy -
(1) 1= &1 fawers g

—

(2) HATTH = GG B
(3) wmEfE STEn T Eni
(4) =Aferm fogl =1 qu foan siar @ 2R Sterfors Sapwear & fore T Suess 3@ S Hehdl g |

Options:-

.1, Option ID :- 269,
. 2, Option ID :- 270,
. 3, Option ID :- 271,

. 4, Option ID :- 272,
Answer Given:- 4, Option ID : -272

Question ID:- 69

What is the Academic role of Principal ?
(1) Budget Preparation

R

(2) Organising cricket tournament
(3) Demo-lesson to teachers
(4) Time-table making

g i efores i & € 2

(1) &S TR HEAT

(2) ToheRe ZAMHe &1 ARSH

(3) AT sl UIS 1 YS9 (SHI) &1
(4) HHI-HRUT ST

Options:-

.1, Option ID :- 273,
. 2, Option ID :- 274,
. 3, Option ID :- 275,

- 4, Option ID :- 276,
Answer Given:- 3, Option ID : -275

Question ID:- 70
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What is the disadvantage of conventional curriculum ?
(1) Boring to the children

(2) Disinterest
(3) Will not satisfy late bloomers
(4) Will not satisfy gifted children

YU YeT=al 9 4 B € 2
(1) 8 =i & e 31 |

(2) I8 EfaF B
(3) THH <X 9 =aA arel didsh §q T8l el |
(4) =94 fafere yfaurened s dq= =@ 2|

Options:-

.1, Option ID :- 277,
. 2, Option ID :- 278,
. 3, Option ID :- 279,

. 4, Option ID :- 280,
Answer Given:- 1, Option ID : -277

Subject : CCLE SOL PE_Q71-Q80_PGTHIN

Question ID:- 71

‘Equality’ 1s associated with :

(1) Inclusive Education
(2) Exclusive Education
(3) Special Education
(4) Comprehensive Education
‘goar’ friferd 9 9 frad Hag 72
(1) SHTae faen
(2) faasi foan
(3) faer faran
(4) H9u forem
Options:-

.1, Option ID :- 281,
. 2, Option ID :- 282,
. 3, Option ID :- 283,

« 4, Option ID :- 284,
Answer Given:- 1, Option ID : -281

Question ID:- 72
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What is ‘Dyscalculia’ ?

(1) Inability to understand number
(2) Inability to hold Pen

(3) Inability to read

(4) Inability to speak

‘fechespfam’ =1 agd frag 82

(1) H&A! Tl ¥HIA 1 Al (T0H %)
(2) HEH YFST Hi SR

(3) ST dhed

(4) e H AHdl (916 dhed)

Options:-

.1, Option ID :- 285,
. 2, Option ID :- 286,
. 3, Option ID :- 287,

. 4, Option ID :- 288,
Answer Given:- 1, Option ID : -285

Question ID:- 73

PWD Act 2016, Provides :
(1) The right to free education for all ages of disabled

2)  The right to free education in the age group of 6-18 years of disabled

(
(3) Free Education to Disabled up to the age of 14 years
(4) Funding for disabled

e =7 arfufam, 2016 § Syay foam 2

1) Tordl ot 3 o fe=im =1 Fyes fosn =1 sifusr

2) 641894 T % F4-a71 = faauin &l 3ok foeqn =1 sifusr
3) 14 99 T i 3 & fe=mm & fau .90 e

4) fe=m & fau fafem

Options:-

.1, Option ID :- 289,

. 2, Option ID :- 290,

. 3, Option ID :- 291,

. 4, Option ID :- 292,
Answer Given:- 4, Option ID : -292

(
(
(
(

Question ID:- 74
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‘Manodarpan’ Launched by MOE recently deals with :

(1) Counselling to students for betterment of academic performance
(2) Guidance to the students suffering from COVID-19

(3) Counselling to support children suffering from mental health issues
(4) Guidance to children for competitive exams

foren wsmera g T @ ° U e e weedu’ frsited | 9 ey defua g2
(1) Sterfores srdfeaes i 2R 399 5= & fon faenfei=i =t gemel feon s

(2) Ifas-19 HemRl | 7% faenfe=i 1 wmel fean s
(3) HATES wWred Gt Wi / fasrl 9 gad derehl sl 9amy @21 s
(4) wfaard wdiensii @ fau srerenl = gume feun s

Options:-

.1, Option ID :- 293,
. 2, Option ID :- 294,
. 3, Option ID :- 295,

. 4, Option ID :- 296,
Answer Given:- 3, Option ID : -295

Question ID:- 75

What is the minimum percentage of disability prescribed for Divyangjan to claim benefits from
Governments ?

(1) 30%
(2) 50%
(3) 20%
(4) 40%

LR 9§ ggfaen grd &3 1 <6 i o fo feainsm & dey o fafed =man . vean foramn afaera @ 2

(1) 30%
(2) 50%
(3) 20%
(4 40 %

Options:-

.1, Option ID :- 297,
. 2, Option ID :- 298,
. 3, Option ID :- 299,

. 4, Option ID :- 300,
Answer Given:- 4, Option ID : -300

Question ID:- 76
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The Quality of good school leader is :
(1) Good speaking ability

(2) Good listening ability
(3) Inspiring ability
(4) Adapting ability

(1) StH A &HdT

(2) U9 AU &THa

(3) AfIRE A =T &
(4) AP &HA
Options:-

.1, Option ID :- 301,
. 2, Option ID :- 302,
- 3, Option ID :- 303,

. 4, Option ID :- 304,
Answer Given:- 4, Option ID : -304

Question ID:- 77

What is the purpose of SDP [School Development plan] ?
(1) Academic excellence

(2) All round development

(3) Adequate funding

(4) Recruitment of teacher
T Tash™ ArsT &1 &1 WA © 2
(1) Serforeh Ikl

(2) Haf faesm

(3) wHE fAfeEes

(4) AR I Yl
Options:-

.1, Option ID :- 305,
. 2, Option ID :- 306,
. 3, Option ID :- 307,

. 4, Option ID :- 308,
Answer Given:- 2, Option ID : -306

Question ID:- 78
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What is the role of School Time Table ?
(1) To complete the syllabus well in time

(2) To fix slot for learning
(3) To ensure smooth and orderly working of the school on all round development
(4) To complete examinations on time

oo™ &1 992 9ol feg 3299 9 996 rdl @ 2

(1) H99 afy § gU Uiy &l I0 & & g

) sferm & fou e (fauifa saa-<e) faa &

3) uuy fasm & fou faznmem &1 g% IR sgafeq s gAafveg s
4) Y YT GAT g T

(
(
(

Options:-

.1, Option ID :- 309,
. 2, Option ID :- 310,
. 3, Option ID :- 311,

. 4, Option ID :- 312,
Answer Given:- 3, Option ID : -311

Question ID:- 79

NCF- 2005 mainly focussed on :
(1) Classroom teaching

(2) Activity method

(3) Examination reforms

(4) A.V. Aids

R

T qiee=d ®9@n- 2005 (TTHUE - 2005) § ged: f&g waad fem mn g2

(1) H&H AT
(2) wHEFAN IS
(3)  udier i

(4) AA-TIF JgH
Options:-

.1, Option ID :- 313,
. 2, Option ID :- 314,
. 3, Option ID :- 315,

- 4, Option ID :- 316,
Answer Given:- 4, Option ID : -316

Question ID:- 80
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What is the advantage of CCE scheme ?
(1) Joyful learning

(2)

(3) Improves quality of learning
(4)

Removes unhealthy comparision when grades introduced

Co - scholastic areas are also evaluated

o1 €t 3 (Fad Ud 999 gedisha) ArsH o # @1 @ 7
(1) 3T 9 Al

(2) 99 U< yonel! Tenfud fofe M & 918 Sy qorcis 9Td 9uTd gl ¢
(3) THH Al i U H GUR 21 @

(4) THH HE-HTAIH &0 1 |l YeHiF 2§

Options:-

.1, Option ID :- 317,
« 2, Option ID :- 318,
. 3, Option ID :- 319,

. 4, Option ID :- 320,
Answer Given:- 2, Option ID : -318

Subject : HINDI_Q81-Q180_PGTHIN

Question ID:- 81

frefafad T #1 SAHYEd 9fet SR 39 W STHRG 999 1 Heish I gifely

el it 91 39 WK i 81 7 off fF Ue-Fen s F A" @S § | Fed i UH-UF TNl Fer-
S IR o 91 a1 fEmE gedl 2 | U1 1 gl ol Uh-Us §2] 9l 9yl 3R BEd o 91y J9E T
21 @ arel %1 T8 78 9 USdl fh 98 8 gL W TSl 2IhL hed SR TH-F & Uk 919 <@ @ ¢, dfch
7g WM gl ¢ foh it @1 ufeat fia & fog o7 U W 9gd @ 3R st 7991 o & fau 38 s & am 2
Tt T o Ufd i 951 Wahe il ST df 98 1437, 99 3R Fiieht 317d QiEH-9v=1al o fa=r 9 8,
e it Uil AAiq Fern & faar F 78, o 3298 9Me-22g W 9y 49E STed ¢ |

T 1 FA0 1 TH-TH 2t hd ard T § 2

(1) <Faet FEgmHE 9

(2) “hee HEdd 9§

(3) ¥ 9EHHl 9, 7 Hedd 9

(4) HEYH SR HETd 9
Options:-

.1, Option ID :- 321,
. 2, Option ID :- 322,
. 3, Option ID :- 323,

. 4, Option ID :- 324,
Answer Given:- 4, Option ID : -324

Question ID:- 82
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frefafaa e & ey ufeu SR 38 9 snfid w9 &1 9ete S gife

faasTt i <90 39 YHR Fi B TE ot F Ua-Fon wEa & 9 @S T | Fed B UH-TE g9l -
S IRl o T T fo@E g2dl @ | U6 1 G 1 Ush-Uah 921 dal auHl AR Hed & 919 9% T8
21 @ 91t %1 FE El o Sl fh 9% $9 @ W @Sl 2 Fad I UHI-F 1 U |y @ @ €, dfch
Tg 9 ggal ¢ T it o afe frm & fog o U W e @ o &l 79 o & foag o erg d s )
Tl T1e] o 9id IS 951 Wahe il STt ol 98 3199/, 99 3R FRieh! 377d 9reH-909=Td1 o f9<9r 9 2,
e 1 YUl Al Fen & faan | 7@, foue 32vg e -ed W oL Y919 ST ¢ |

qH-F faFs 1§ 2
(1) Afear ferm

(2) SAHIY & ™
(3) “had &k A

(4) = F TR
Options:-

.1, Option ID :- 325,
. 2, Option ID :- 326,
. 3, Option ID :- 327,

« 4, Option ID :- 328,
Answer Given:- 3, Option ID : -327

Question ID:- 83

frefafaa Ty #1 eaAyds ufeu 3R 39 W i 999 &1 9eie S gifed

Tl 1 290 39 UHR Fi B E of FF U-F Fea F A" @S © | Fed B UH-TEh g9l -
STETT ARIehT o WY 91 feEE Sdl © | 061 1 g i Uh-Ush 521 del Wasr AR HeTd o 919 9% T8
21 2@ 9T 1 I8 7 S gl o 9% 9 g W WSl 2l Hed SR UMI-FW $1 UF 9y 3@ @l §, dfeh
TRV Tsai e fF Ff A ufai fra F far e Ss Waea 2 iR st iy o & fau g s d e € |
ot el & ufd afe go1 e it St 9 98 A, 99 SR SRl S1Td QrEH-ge=Td o fear 9 2,
%A i YOIl ALT el & foar § 78, Toge 3897 9Ha-289 1 9y Y9E STeldl 2 |

<@+ dTel ol 1 TE1 91 9Sdl & foh

(1) =% ufeat fmq & foe i w =e1 21

(2) &Y oA & fou g8 Fr a1y § o B

(3) % ufeEr 3R g % o aRa= 931 W

(4) O LGSl B Hed AR TH-F' &l @ W2 |

Options:-

.1, Option ID :- 329,
. 2, Option ID :- 330,
. 3, Option ID ;- 331,

. 4, Option ID :- 332,
Answer Given:- 4, Option ID : -332

Question ID:- 84
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frefafaa e & ey ufeu SR 38 9 snfid w9 &1 9ete S gife

faasTt i <90 39 YHR Fi B TE ot F Ua-Fon wEa & 9 @S T | Fed B UH-TE g9l -
S IRl o T T fo@E g2dl @ | U6 1 G 1 Ush-Uah 921 dal auHl AR Hed & 919 9% T8
21 @ 91t %1 FE El o Sl fh 9% $9 @ W @Sl 2 Fad I UHI-F 1 U |y @ @ €, dfch
Tg 9 ggal ¢ T it o afe frm & fog o U W e @ o &l 79 o & foag o erg d s )
Tl T1e] o 9id IS 951 Wahe il STt ol 98 3199/, 99 3R FRieh! 377d 9reH-909=Td1 o f9<9r 9 2,
e 1 YUl Al Fen & faan | 7@, foue 32vg e -ed W oL Y919 ST ¢ |

TH 3T & ufd Uehe i SIH et 91 art
(1) ad g9 faar |

2) FHad IRl & faur 9

3) W U=l & faErR 9 Fed

4) g9, IRl AYE HYA H9=dl & fa=R ¥

(
(
(

Options:-

.1, Option ID :- 333,
. 2, Option ID :- 334,
. 3, Option ID :- 335,

« 4, Option ID :- 336,
Answer Given:- 4, Option ID : -336

Question ID:- 85

frefafaa Ty #1 eaAyds ufeu 3R 39 W i 999 &1 9eie S gifed

Tl 1 290 39 UHR Fi B E of FF U-F Fea F A" @S © | Fed B UH-TEh g9l -
STETT ARIehT o WY 91 feEE Sdl © | 061 1 g i Uh-Ush 521 del Wasr AR HeTd o 919 9% T8
21 2@ 9T 1 I8 7 S gl o 9% 9 g W WSl 2l Hed SR UMI-FW $1 UF 9y 3@ @l §, dfeh
TRV Tsai e fF Ff A ufai fra F far e Ss Waea 2 iR st iy o & fau g s d e € |
ot el & ufd afe go1 e it St 9 98 A, 99 SR SRl S1Td QrEH-ge=Td o fear 9 2,
%A i YOIl ALT el & foar § 78, Toge 3897 9Ha-289 1 9y Y9E STeldl 2 |

EFEﬂ”aifa?ﬂI?ﬁ'HﬂﬁifﬁiiFfT$E§TEETEﬁ$FH:
(1) ©r=g &l guifaa &l HLa

(2) HFE T T R YE STl §

(3) HME &&d i e s §

(4) holl ol T&gd ¥ QW FHdl ¢

Options:-

.1, Option ID :- 337,
. 2, Option ID :- 338,
. 3, Option ID :- 339,

. 4, Option ID :- 340,
Answer Given:- 2, Option ID : -338

Question ID:- 86
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(1) SR
(2) TouE
(3) SHIGR
(4) HEhl
Options:-

.1, Option ID :- 341,
. 2, Option ID :- 342,
. 3, Option ID :- 343,

. 4, Option ID :- 344,
Answer Given:- 3, Option ID : -343

Question ID:- 87

AATHS T i TG © :

(1)  ¥ieTdl el

(2) ¥RYA AP T
(3) ol TEeeEH
(4) foRE-gymo
Options:-

.1, Option ID :- 345,
. 2, Option ID :- 346,
- 3, Option ID :- 347,

. 4, Option ID :- 348,
Answer Given:- 4, Option ID : -348

Question ID:- 88

‘faer -y’ 9m% 47 frasr &2

(1) aHq%s T

(2) HAgRE 7Y

(3) T vt

(4) varFyER by
Options:-

.1, Option ID :- 349,
. 2, Option ID :- 350,
. 3, Option ID :- 351,

. 4, Option ID :- 352,
Answer Given:- 1, Option ID : -349

Question ID:- 89
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“TTerdT Arel’ & FeFIFR ©

(1) o0 19
(2) =

(3) I S
(4) == YSH
Options:-

.1, Option ID :- 353,
. 2, Option ID :- 354,
. 3, Option ID :- 355,

. 4, Option ID :- 356,
Answer Given:- 3, Option ID : -355

Question ID:- 90

‘oitfa § =nfor’ ©
(1) HER
(2) e gaid
(3) e
(4) Hfaa
Options:-

.1, Option ID :- 357,
. 2, Option ID :- 358,
« 3, Option ID :- 359,

. 4, Option ID :- 360,
Answer Given:- 1, Option ID : -357

Question ID:- 91

‘Tt Fefafad | 9 feast @ e ?
(1)  Fom Hred

(2) W= WeWI

(3) YarH g4E g

(4) WEwRE! I

Options:-

.1, Option ID :- 361,
. 2, Option ID :- 362,
. 3, Option ID :- 363,

. 4, Option ID :- 364,
Answer Given:- 2, Option ID : -362

Question ID:- 92
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‘StgE o Ug refafaa 5 9 et @ g2

(1) & HgH
(2) i T
(3) FHITE

(4) W= ¥er
Options:-

.1, Option ID :- 365,
. 2, Option ID :- 366,
. 3, Option ID :- 367,

. 4, Option ID :- 368,
Answer Given:- 3, Option ID : -367

Question ID:- 93

Fa ‘T & feae’ 91 ' frus w99 &2

(1) UHER I

(2) eeriyER fgad]
(3) W@ YHE T
(4) ¥I™ YEEH

Options:-

.1, Option ID :- 369,
. 2, Option ID :- 370,
. 3, Option ID :- 371,

. 4, Option ID :- 372,
Answer Given:- 2, Option ID : -370

Question ID:- 94

‘gyeen’ % T H BH 91 FUT Te T ¢ 2

(1) Sie Teh T8 1 ALFHT ¢ |

(2) gfran meEen 2

(3) weq |kt i Hiad o8 Al ¢ f5eH e Sfiad g =1 fuer S & |
(4) 9 wfaa #1 g2 Sied #1 TF 92 T

Options:-

.1, Option ID :- 373,
. 2, Option ID :- 374,
. 3, Option ID :- 375,

. 4, Option ID :- 376,
Answer Given:- 1, Option ID : -373

Question ID:- 95
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frfafed 5 sfEm o=+ & =6 7> ©
(1) Ten-fae=m
() A
(3) 3P A

(4) g S st ©

Options:-

.1, Option ID :- 377,
. 2, Option ID :- 378,
. 3, Option ID :- 379,

. 4, Option ID :- 380,
Answer Given:- 4, Option ID : -380

Question ID:- 96

"Sa1 1 SeHt’ Ffaa & wfEaa g

(1) TS

(2) Hfaaay
(3) HfHa

(4) 3ATEF ¥4
Options:-

.1, Option ID :- 381,
. 2, Option ID :- 382,
. 3, Option ID :- 383,

. 4, Option ID :- 384,
Answer Given:- 4, Option ID : -384

Question ID:- 97
o g3

UEqd e Ufea & i €
(1) AR &=

2) 379k AT

3)  HeEt AREY

4) T g UE

(
(
(

Options:-

.1, Option ID :- 385,
. 2, Option ID :- 386,
. 3, Option ID :- 387,
. 4, Option ID :- 388,
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Answer Given:- 1, Option ID : -385

Question ID:- 98

fr=feafad § 9 #F-91 Fa TR & T 6 © 2

(2) AT -HHA

(3) IS GHU Tl
(4) g U s ©
Options:-

.1, Option ID :- 389,
« 2, Option ID :- 390,
. 3, Option ID :- 391,

. 4, Option ID :- 392,
Answer Given:- 4, Option ID : -392

Question ID:- 99

frefafad § @ SHE-91 w99 TER 9e™ & 9R) § 9 6 ¢ 2
(1) 9 U9 9 T THR 9 |

(2) 9 f9g FUFR 3R TF FHfq 4 9|
(3) AR TETd WU el & Ush HaeTvied U0 =6 & |
(4) hfadl $1 M Tk FeFIT R A2hd 999 e

Options:-

.1, Option ID :- 393,
. 2, Option ID :- 394,
. 3, Option ID :- 395,

. 4, Option ID :- 396,
Answer Given:- 1, Option ID : -393

Question ID:- 100

IR FeTg fHE 1 ea-4Ug 78 © ¢
(1) 3w

(2) EAIY =i Teh 9MH

(3) o =g FHe FoW

(4) Uk

Options:-

.1, Option ID :- 397,
. 2, Option ID :- 398,
. 3, Option ID :- 399,

. 4, Option ID :- 400,
Answer Given:- 4, Option ID : -400

Question ID:- 101
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fafafaa 5 9 =@ 9@ Sfaa-gus FHue &1 78 ¢ ?

(1) vitfaert

(2) T 9H

(3) @

(4) SAI-HEA
Options:-

.1, Option ID :- 401,
. 2, Option ID :- 402,
. 3, Option ID :- 403,

. 4, Option ID :- 404,
Answer Given:- 4, Option ID : -404

Question ID:- 102

frefafad 5 | gadem & a) § FHE-91 FY T8 T8l ¢ 2

(1) qorrerE =l @ieh 37X 9 g1 8 el 93 7

(2) Qo | S 9 SFId i SA19% Afd 3R HifHeE GHl Fl ST 9H ¢ |

(3) Wepfd iR Sirem & fafas v@ qoi el 9 39 w=-dar ¥ fovm 9gfs =& & 2
(4) ol SRife 2R difehes R o F1 G761 o 1990 3R 37k 99599 o Hid ¢ |

Options:-

.1, Option ID :- 405,
. 2, Option ID :- 406,
. 3, Option ID :- 407,

. 4, Option ID :- 408,
Answer Given:- 3, Option ID : -407

Question ID:- 103

frefafad 5 & SH-9 = el a9 # T8 ¢ 2

(1) <raferE
(2) SATYRT
(3) TTHEN
(4) HeRfeqd
Options:-

.1, Option ID :- 409,
. 2, Option ID :- 410,
. 3, Option ID :- 411,

. 4, Option ID :- 412,
Answer Given:- 2, Option ID : -410

Question ID:- 104
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S92 & fefafes waei 4 fE-91 fa9r gaE Aay-gug 2

(1) Y=y

(2) THF AN EH

(3) HIEl

(4) A
Options:-

.1, Option ID :- 413,
. 2, Option ID :- 414,
. 3, Option ID :- 415,

. 4, Option ID :- 416,
Answer Given:- 2, Option ID : -414

Question ID:- 105

wOieaR 1] i fefafad el 3 -4 T S8R 7@ 6 2

(1) et shifd e
() F3-g7 T

(3) ° qerdl i Y
(4) HUSTA-H9A
Options:-

.1, Option ID :- 417,
. 2, Option ID :- 418,
. 3, Option ID :- 419,

. 4, Option ID :- 420,
Answer Given:- 4, Option ID : -420

Question ID:- 106

Frfafaa | faw) @ &1 Ffaa-5u 78 © -
(1) g 0 g 9

(2) U TR TaA 999 |

(3) fusen st

(4) 9 <p 994

Options:-

.1, Option ID :- 421,
. 2, Option ID :- 422,
. 3, Option ID :- 423,

. 4, Option ID :- 424,
Answer Given:- 4, Option ID : -424

Question ID:- 107
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92 gt 1 Tog & fou yfag 9 2

(1) dar&q hedl
(2) TeerERe
(3) H

(4) PoAmR]
Options:-

.1, Option ID :- 425,
. 2, Option ID :- 426,
. 3, Option ID :- 427,

. 4, Option ID :- 428,
Answer Given:- 2, Option ID : -426

Question ID:- 108

"1 W faT 9Te % TES FI EEl

2191 U gl & 39 Me- 9

w1 F T H Sl ol <ol §

TS 3adt ¢ faafaea a=1 #i g9t

I wrey fefafaa § 9 frg #fa &t sfaar T 22

(1) IHYR T8 foe

(2) T TEgd

(3) TIER T2H

(4) HAYHEHTA HFAl
Options:-

.1, Option ID :- 429,
. 2, Option ID :- 430,
. 3, Option ID :- 431,

- 4, Option ID :- 432,
Answer Given:- 2, Option ID : -430

Question ID:- 109

frfafas 5 9 #F @ F99 7990 $9R F gifecs F 9R § 98 T @ 7
(1) T FHR & TS/l HUE &1 4 ‘93 5 g9’ 2|

(2) ToHd FHR & TS o 94T I 370 39 H Yo 3R a7 © |

(3) T&Hd FHER T TSl H TSI 3R 9 W AT 7 2

(4) oA FHR Hi Mo A 39 faun =1 &S o yfafea fn g

2

o

Options:-

.1, Option ID :- 433,
. 2, Option ID :- 434,
. 3, Option ID :- 435,
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. 4, Option ID :- 436,
Answer Given:- 3, Option ID : -435

Question ID:- 110

2R B 1 Sl g ST,
HHeqHHl Id91 &1 Waead &1,

UK & 24 1 [ WUaR,
Yehe BT fasse & s

Options:-

.1, Option ID :- 437,
- 2, Option ID :- 438,
« 3, Option ID :- 439,

. 4, Option ID :- 440,
Answer Given:- 4, Option ID : -440

Question ID:- 111

fr=fafad § 9 -5 = SRS ST i &8 © 2

(1) Tereaemfd

(2) TG

(3) UMl

(4) Trsity
Options:-

.1, Option ID :- 441,
. 2, Option ID :- 442,
. 3, Option ID :- 443,

. 4, Option ID :- 444,
Answer Given:- 3, Option ID : -443

Question ID:- 112

frfafad 5 | #F-a1 w97 fHe=s & afecs & a9 5 98 18 ¢ 7
(1) T5efr== &t 9w SEmEE Tafad § 9o @ |

(2) TSI 1 31S 33 TE i FHH 9 JT 2|

(3) Tcir=s wifdars] o o %Y YEARER! SR & g 31 T € |
(4) Toem=a fe<t § |iqe 1 w@nfia 3 916l #fa & 9§ off 9F 1d § |

Options:-
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.1, Option ID :- 445,
. 2, Option ID :- 446,
. 3, Option ID :- 447,

. 4, Option ID :- 448,
Answer Given:- 1, Option ID : -445

Question ID:- 113

HRI % 91 H HHA-H I Hel el © /

(1)

9

e,

(2)
(3)
(4)

Options:-

.1, Option ID :- 449,
. 2, Option ID :- 450,
. 3, Option ID :- 451,

- 4, Option ID :- 452,
Answer Given:- 3, Option ID : -451

HI HU M ] HEe gyl et o |

FON -9 B o HIUN 3k Shiadl § T Yfdd T=T ®9 Y g
o sifer =1 wre 39kt sfaaieti 9 =@ faeran

Hd shfa & 37 T HH 9714 ¢ |

Question ID:- 114

frfafad § 9 SR -9 @ giaared U & 18 © 2

(1)
(2)
(3)
(4)

Options:-

.1, Option ID :- 453,
. 2, Option ID :- 454,
. 3, Option ID :- 455,

- 4, Option ID :- 456,
Answer Given:- 3, Option ID : -455

@ o
e
I

Question ID:- 115

‘gfaarmn a7 a9 AR T-fada fae
e & Ty fores @1 2 74 9 aifig |’

Yfaadi o TEAFR @ :

(1) HHeid Bael fuen
(2) TR Bt

(3) HHATEA qd

(4) HERE 91
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Options:-

.1, Option ID :- 457,
. 2, Option ID :- 458,
. 3, Option ID :- 459,

. 4, Option ID :- 460,
Answer Given:- 2, Option ID : -458

Question ID:- 116

frafafas ¥ #F-91 we= vyar yae g &% e d 98 78 82
(1) varFyER fg =1 waa &<t 1 g5 @9 #1 Sfaa g
(2) Y HESal &1 GaY M F 9 il a9 U off JSar e |
(3) 3R YU U9 =t wfgan 72 forat g |

(4) oz St =1 FHiaar & et oF %81 T

Options:-

.1, Option ID :- 461,
. 2, Option ID :- 462,
. 3, Option ID :- 463,

- 4, Option ID :- 464,
Answer Given:- 3, Option ID : -463

Question ID:- 117

SR H T4 25T TS i HeATshid YA The Rl ead Siidu-odl 9 g3 ol sas 3T T3l 4 341 fahan ?

(1) SHA 991 giat

(2) W W el

(3) HIZITET &l g3 foran
(4) W = T

Options:-

.1, Option ID :- 465,
. 2, Option ID :- 466,
« 3, Option ID :- 467,

. 4, Option ID :- 468,
Answer Given:- 2, Option ID : -466

Question ID:- 118

‘99" AF FerAl fFes e fadt T B 7

(1) Y9dg

(2) =

(3) o Teee SER
(4) RO 7]
Options:-

.1, Option ID :- 469,

(¥ Scanned with OKEN Scanner



. 2, Option ID :- 470,
. 3, Option ID :- 471,

. 4, Option ID :- 472,
Answer Given:- 1, Option ID : -469

Question ID:- 119

‘faear afEn’' & =R £ -

(1) #HAEEI™ S
(2) 3FT A=A

(3) 3H YmHE]

(4) TUA %
Options:-

.1, Option ID :- 473,
. 2, Option ID :- 474,
. 3, Option ID :- 475,

- 4, Option ID :- 476,
Answer Given:- 1, Option ID : -473

Question ID:- 120

‘¥ grfecy 1 9T i i F @A 1 YL T | S Sl B Sl g id, Biar SR TaErifaier | 9= A
b, ... HAGTYNA A &1 9ok, 3H Hifecd e H Hal Hehrd el g1’

I faar fg == & € 2

1) THdEE oA
) &l garg faadt
) AegAr ATyl
)

2
3

4) THfgAT IHI

(
(
(
(
Options:-

.1, Option ID :- 477,
. 2, Option ID :- 478,
. 3, Option ID :- 479,

. 4, Option ID :- 480,
Answer Given:- 2, Option ID : -478

Question ID:- 121
fefafad 5 9 -9t 919 SR & 9] § T8 76l © 7

(1) THE SFai R 78l ¢ |

(2) el fAaia St @

(3) ST AYF HH & A H 9 aR 1 yfafad off T
(4) &0 &l ¢ foh e uftepd IR ame Yot § fadt s

Options:-
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.1, Option ID :- 481,
« 2, Option ID :- 482,
. 3, Option ID :- 483,

. 4, Option ID :- 484,
Answer Given:- 1, Option ID : -481

Question ID:- 122

U2l & AU B 1 -9 dcd AEY9F T8l © 2

(1) HARSH

(2) Hiferera

(3)  WTETE

(4) dl H HdeH
Options:-

.1, Option ID :- 485,
. 2, Option ID :- 486,
. 3, Option ID :- 487,

- 4, Option ID :- 488,
Answer Given:- 4, Option ID : -488

Question ID:- 123

fr=fafad § 9 sH-91 F99 T8 T8 & 2

(1) Tfew Sfzshm sl YRA I Jeell |se Fal S Fehdl ¢ |

(2) Ofew Slewm iR & @ g 98 o @ g

3) dedrge T fayg Taaifal Y& L Fl 97 qecial SIChH hl Sl ¢ |
(4) T 7Yl § T2 TFHRIGT hi YHAT 1983 F 2002 & o9 5 |

¥ e !

Options:-

.1, Option ID :- 489,
. 2, Option ID :- 490,
. 3, Option ID :- 491,

- 4, Option ID :- 492,
Answer Given:- 2, Option ID : -490

Question ID:- 124
FOTEET i T YA U Frefefaa § |4 2
(1) BT = H0

(2) AP I
(3) ey
(4) HEIO
Options:-

.1, Option ID :- 493,
. 2, Option ID :- 494,
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. 3, Option ID :- 495,

« 4, Option ID :- 496,
Answer Given:- 1, Option ID : -493

Question ID:- 125

(1) TREA
(2) HEREH
(3) qAHE™
(4) YaEM™
Options:-

.1, Option ID :- 497,
. 2, Option ID :- 498,
. 3, Option ID :- 499,

. 4, Option ID :- 500,
Answer Given:- 3, Option ID : -499

Question ID:- 126
SHWIH ST ot Hfadr ‘Sie A0 @d' o I8 H -9 Tal el ¢ 2
(1) B TR Ea F % w0 § F F % e w0 A A i w5 T E

(2) hfa = AT H1 G FihR T &l 938 aTdl ¢ |
(3) &d H Y B ATeT 3 Yl FHI &I arel |
(4) HifecT &1 W FH Foha1 T8 € |

Options:-

.1, Option ID :- 501,
« 2, Option ID :- 502,
. 3, Option ID :- 503,

. 4, Option ID :- 504,
Answer Given:- 3, Option ID : -503

Question ID:- 127

frfafed § § e arEfes 1 92w 7= ¥ell 3 78l fodl 872

(1) TSHI

(2) faden

(3) TamHl

(4) THHIT
Options:-

.1, Option ID :- 505,
. 2, Option ID :- 506,
. 3, Option ID :- 507,
. 4, Option ID :- 508,
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Answer Given:- 2, Option ID : -506

Question ID:- 128

‘T TeiEeeH’ & 9 ¥ f=fafad 3§ @ sE-91 956 96 768 8 2

(1) Tl =eireeeA =1 gay wfeamsea 9 o1

(2) o1 TEEEEH @ THeE 9 |

(3) ot FHiEeEE 99 fawar a9m & forn #9Ee 9
(4) Toar FdrEegE B TR &t Tfedr 591 & 9 |
Options:-

.1, Option ID :- 509,
« 2, Option ID :- 510,
. 3, Option ID :- 511,

. 4, Option ID :- 512,
Answer Given:- 3, Option ID : -511

Question ID:- 129

fefafad 5 9 ' saaga’ feye 30 2 2
(1) Y=o a4

(2) 2 FER

(3) W TEE

)
(4) ST e 9|l

Options:-

.1, Option ID :- 513,
. 2, Option ID :- 514,
. 3, Option ID :- 515,

. 4, Option ID :- 516,
Answer Given:- 2, Option ID : -514

Question ID:- 130

S Heled! goid: fhE W9l i TaAHR € 7

(1) df[a
(2) =g
(3) 9L
(4 &=
Options:-

.1, Option ID :- 517,
. 2, Option ID :- 518,
. 3, Option ID :- 519,

. 4, Option ID :- 520,
Answer Given:- 2, Option ID : -518

Question ID:- 131
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FON Hrardt st fefatad we § $E-a1 9 gafad T8 @ 2

(1) o= gt - 39

(2) feemef - HEHI-HUE

(3) V=i % HTelleh H - g e
(4) U wSH - 39

Options:-

.1, Option ID :- 521,
. 2, Option ID :- 522,
. 3, Option ID :- 523,

. 4, Option ID :- 524,
Answer Given:- 2, Option ID : -522

Question ID:- 132

frefafad 5 9 fF-H fren gfsars =1 768 27

(1)  STqufs

(2) ol ATl

(3) HEl

(4) VO & faerEt
Options:-

.1, Option ID :- 525,
. 2, Option ID :- 526,
. 3, Option ID :- 527,

. 4, Option ID :- 528,
Answer Given:- 3, Option ID : -527

Question ID:- 133

ffafed ¥ FF-91 F99 '9R 29" &% 9% § HEl 6 ¢ 2

(1) 42 Feayy feay g1

(2) 3EH TRl St § enfere e |

(3) =g Ml Suifierar 2R Tifecy ety enforer 1 gely TE S S el
(4) 3 <9 Yee foran man fEy st off wrEtTes 2

Options:-

.1, Option ID :- 529,
. 2, Option ID :- 530,
. 3, Option ID :- 531,

. 4, Option ID :- 532,
Answer Given:- 2, Option ID : -530

Question ID:- 134
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Toid FUR Fi Fid ' Se-De qaa’ €

(1) =hTA

(2) SYHH
(3) Tiifd e
(4) ey
Options:-

.1, Option ID :- 533,
. 2, Option ID :- 534,
. 3, Option ID :- 535,

. 4, Option ID :- 536,
Answer Given:- 2, Option ID : -534

Question ID:- 135

3791 Hes Yygfadi %1 "Rl °d

Afer 37k <9 1 7 94|

Sife o Hesl ¥am® § = 3 4,

e yd 21 2|

FHigdl &1 3uda 379 Frefeifaa § 9 fg #fa #1872

(1) s

(2) o

(3) YHA qRAl
(4) TGS FHR HY
Options:-

.1, Option ID :- 537,
. 2, Option ID :- 538,
. 3, Option ID :- 539,

- 4, Option ID :- 540,
Answer Given:- 1, Option ID : -537

Question ID:- 136

‘TeESTdl g1’ SaTetad e &l T o

(1) 93 =1 598

(2)  THYTI 1 HUB
(3) ET gdid

(4) HERU H GUE
Options:-

.1, Option ID :- 541,
. 2, Option ID :- 542,
. 3, Option ID :- 543,
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. 4, Option ID :- 544,
Answer Given:- 2, Option ID : -542

Question ID:- 137

‘foriy & wa’ Fray o wream 9 ge arg fzadt 7 Feefafaa 9 | sF-a1 fa=n =@ fwa e 2

(1) &34 I HFedl 6] g9 & [T Faar Hi Herdl Hi FHHi-FH v ST 31 Sl ¢ |
(2) S H HIHdl F FGH b AU FTER HI FSRAl FEA A&l 2l |

(3) THHA & T e sEd ¢

(4) HHAd & fou & € HEHaRR |

Options:-

.1, Option ID :- 545,
. 2, Option ID :- 546,
. 3, Option ID :- 547,

- 4, Option ID :- 548,
Answer Given:- 1, Option ID : -545

Question ID:- 138

frafafad § | wFE-6 = gofs[ T & 7@ ¢ 7

(1) FTgeitare

(2) TR = w0 Hel
(3) EH = fopem

(4) 9. 9% & HRAH
Options:-

.1, Option ID :- 549,
. 2, Option ID :- 550,
. 3, Option ID :- 551,

. 4, Option ID :- 552,
Answer Given:- 1, Option ID : -549

Question ID:- 139

Fr=fafEd |5 9 -9 %99 e 79 & 91§ 921 76 © 2

(1) Teen gqar =1 5= sAfeardt gfeam | g

(2) TR ARTYR Sifa- HH @ |

(3) enfeardt sie =t fammfadi 1 aeei=a 9 SHU T

(4) Trden yge =t wfamsi &1 garel | fe<st wuiay a9 fdg 3 fen 2

Options:-

.1, Option ID :- 553,
. 2, Option ID :- 554,
. 3, Option ID :- 555,

. 4, Option ID :- 556,
Answer Given:- 2, Option ID : -554
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Question ID:- 140

fr=fafaa 5 ‘die w91’ & TAFR € 7

(2) 9™
(3) fen gga
(4) T FIR
Options:-

.1, Option ID :- 557,
. 2, Option ID :- 558,
. 3, Option ID :- 559,

. 4, Option ID :- 560,
Answer Given:- 2, Option ID : -558

Question ID:- 141

‘grErgEt A ' ToRd faun i wmAEE 7

(1) ATHHT

(2) FHEHEI-HUZ

(3) HERO

(4) 394TH
Options:-

.1, Option ID :- 561,
. 2, Option ID :- 562,
. 3, Option ID :- 563,

. 4, Option ID :- 564,
Answer Given:- 4, Option ID : -564

Question ID:- 142

fefafaa 5 sma 3w 2

() “@-" = 5% WM

(2) 9% =  aEiarEd 99
(3) =M = fgwum

(4) ©AFAEH = FHHYRT YUY
Options:-

.1, Option ID :- 565,
. 2, Option ID :- 566,
. 3, Option ID :- 567,

. 4, Option ID :- 568,
Answer Given:- 4, Option ID : -568

Question ID:- 143

(¥ Scanned with OKEN Scanner



" FHE d Hl TH! HiesEwal A 91 @ "R SE 1 9 1w - e Gl § AR § 2

(1) 9o
(2) SI3AE
(3) FHH
(4) w9
Options:-

.1, Option ID :- 569,
. 2, Option ID :- 570,
. 3, Option ID :- 571,

. 4, Option ID :- 572,
Answer Given:- 3, Option ID : -571

Question ID:- 144

‘o9 aidq 4 @1 391 | 98 1 alahifed o 919 §

(1) Has sl

(2) A B
(3)  hie BT

(4) HUS B
Options:-

.1, Option ID :- 573,
. 2, Option ID :- 574,
. 3, Option ID :- 575,

. 4, Option ID :- 576,
Answer Given:- 2, Option ID : -574

Question ID:- 145

frefafad § 9 F9-91 F99 JArER! Siad & 9 § 9el el © 7

(1) gArTErEl gl fed Faut 98- JArT et Ml

(2) ¢ &9, AU Ydlsh, 7¢ IUHH FHiadr & ITH F99

(3) BTeifeh GO SUATEI | oft 31ef i = 1A w1 WA wAEan wfad 7 98
(4)  ATA HAH-TSH Hiaal 1 fewm g

Options:-

.1, Option ID :- 577,
. 2, Option ID :- 578,
. 3, Option ID :- 579,

. 4, Option ID :- 580,
Answer Given:- 3, Option ID : -579

Question ID:- 146

(¥ Scanned with OKEN Scanner



frefafaa 5 #-91 #fa gt 9w § mive 7@ 912

(1) hERATY ST

(2) HEH 9HE 1

(3) L Hel

(4) TIAR HeH™
Options:-

.1, Option ID :- 581,
. 2, Option ID :- 582,
. 3, Option ID :- 583,

. 4, Option ID :- 584,
Answer Given:- 1, Option ID : -581

Question ID:- 147

Freffefad § @ #-d i fewdt § onforer = 2

(1) Al
(2) oIS
(3) aEE
(4) SAEITE!
Options:-

.1, Option ID :- 585,
. 2, Option ID :- 586,
. 3, Option ID :- 587,

. 4, Option ID :- 588,
Answer Given:- 2, Option ID : -586

Question ID:- 148

r=fafaa | G2 &1 Fifses AraH J8 2 2
(1) T

(2) e gun

(3) T¥hS TRH

(4 fa

Options:-

.1, Option ID :- 589,
. 2, Option ID :- 590,
. 3, Option ID :- 591,

. 4, Option ID :- 592,
Answer Given:- 3, Option ID : -591

Question ID:- 149
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fr=fafaa § 9 #99 9 S99 $1 9ftam &8 81 9t © 2

(1) TFredeh qid 3T &l & |

(2) TSl =1 SE AT Bl ¢ |
(3) YIS 1 ST SATYS Bl & |
(4) IRl 1 AU SAGSE &l 2 |

Options:-

.1, Option ID :- 593,
. 2, Option ID :- 594,
. 3, Option ID :- 595,

. 4, Option ID :- 596,
Answer Given:- 3, Option ID : -595

Question ID:- 150

SHEER F HE T8 '

(1) HEA

(2) Tofe e

(3) TwEr e

(4) T2 9= S
Options:-

.1, Option ID :- 597,
. 2, Option ID :- 598,
. 3, Option ID :- 599,

. 4, Option ID :- 600,
Answer Given:- 4, Option ID : -600

Question ID:- 151

USRI 1 91 FHIH T I a9 T8l ©

) AEHER
) |

) [

) 9T

1
2

o

(
(4
Options:-

.1, Option ID :- 601,
. 2, Option ID :- 602,
. 3, Option ID :- 603,

. 4, Option ID :- 604,
Answer Given:- 4, Option ID : -604

Question ID:- 152
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(1) dT=S YSRI
(2) USERH! TR
(3) HMH YA
(4) TATF TARI]
Options:-

.1, Option ID :- 605,
. 2, Option ID :- 606,
. 3, Option ID :- 607,

. 4, Option ID :- 608,
Answer Given:- 3, Option ID : -607

Question ID:- 153

frefefaa gl 4 srm gm §
(1) 99 - <dlod

(2) ®E - T

(3) HiEm - Hie

4 WY - §™

Options:-

.1, Option ID :- 609,
. 2, Option ID :- 610,
« 3, Option ID :- 611,

. 4, Option ID :- 612,
Answer Given:- 4, Option ID : -612

Question ID:- 154

frefafad s 4 ga1 oiss ©
(1) &

(2) TN

(3)

(4) FHhI

Options:-

.1, Option ID :- 613,
. 2, Option ID :- 614,
. 3, Option ID :- 615,

. 4, Option ID :- 616,
Answer Given:- 1, Option ID : -613

Question ID:- 155
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‘g 4 3R WX I g/’ Ernifad o1 219 @

(1) FArad 9 &5 9 2

(2) FAFFa ¥ s wrd A F T=F el
(3) FFFAIER UE i Jifd 2

(4) T H AfER B

Options:-

.1, Option ID :- 617,
. 2, Option ID :- 618,
. 3, Option ID :- 619,

. 4, Option ID :- 620,
Answer Given:- 2, Option ID : -618

Question ID:- 156

frfafaa weai 5 gfg S amen wes 738 ©
(1) W<

(2) @AY

(3) I

(4) YUIFRR

Options:-

.1, Option ID :- 621,
. 2, Option ID :- 622,
. 3, Option ID :- 623,

. 4, Option ID :- 624,
Answer Given:- 4, Option ID : -624

Question ID:- 157

T o YR 9 3TET I ©

(1) qEuar=s g - 3T
(2) TrsEmEs e - 3UAl
(3) HeyETEE HaAH - 3EA
(4) sfoerrEras wdam - 3RA
Options:-

.1, Option ID :- 625,
. 2, Option ID :- 626,
. 3, Option ID :- 627,

. 4, Option ID :- 628,
Answer Given:- 3, Option ID : -627

Question ID:- 158
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"y | SR A B | SR o LEifehd 391 H UEEY @

(1) foFan geay

(2) W 9SHH

(3) Tewrom geEy

(4) Torafaerom geay
Options:-

.1, Option ID :- 629,
. 2, Option ID :- 630,
. 3, Option ID :- 631,

. 4, Option ID :- 632,
Answer Given:- 1, Option ID : -629

Question ID:- 159

ffafed 4 agva viss 7@ © :

(1) &M
(2) i
(3) T
(4) ©E

Options:-

.1, Option ID :- 633,
. 2, Option ID :- 634,
. 3, Option ID :- 635,

. 4, Option ID :- 636,
Answer Given:- 3, Option ID : -635

Question ID:- 160

‘gdd’ 91e2 1 YATEETE! IS ©

(1) 3=t

(2) HfeH

(3) WHEER

(4) FEIE
Options:-

.1, Option ID :- 637,
. 2, Option ID :- 638,
. 3, Option ID :- 639,

- 4, Option ID :- 640,
Answer Given:- 3, Option ID : -639

Question ID:- 161
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f=fafag § ueredf v 2

(1) ¥
(2) Ug
(3) S
(4) HAABRI
Options:-

.1, Option ID :- 641,
. 2, Option ID :- 642,
. 3, Option ID :- 643,

. 4, Option ID :- 644,
Answer Given:- 1, Option ID : -641

Question ID:- 162

f=ferfag vreei § * vyreaEs 931 9= 981 © -

(1) ¥H=E
(2) g
(3) dem™
(4) i
Options:-

.1, Option ID :- 645,
. 2, Option ID :- 646,
. 3, Option ID :- 647,

. 4, Option ID :- 648,
Answer Given:- 4, Option ID : -648

Question ID:- 163

Tefaiad vea] ° st ves ¢ :
(1) Hu=

(2) 9™

(3) Aua

(4) Al
Options:-

.1, Option ID :- 649,
. 2, Option ID :- 650,
. 3, Option ID :- 651,

. 4, Option ID :- 652,
Answer Given:- 2, Option ID : -650

Question ID:- 164
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frfafad faemedt s gl § s16d 2 -

(1) ATelh - Edh

(2) SHIFH@ - WEd

(3) TUfgh - URdlifoE

(4) 3YhK — HYh X
Options:-

.1, Option ID :- 653,
. 2, Option ID :- 654,
. 3, Option ID :- 655,

. 4, Option ID :- 656,
Answer Given:- 1, Option ID : -653

Question ID:- 165

(1) TcIed HHE

(2) FHYRET FHNY
(3) AHAHE HHE H
(4) wgdife 9Hg #

Options:-

.1, Option ID :- 657,
. 2, Option ID :- 658,
. 3, Option ID :- 659,

. 4, Option ID :- 660,
Answer Given:- 2, Option ID : -658

Question ID:- 166

TSR] TH & R W F=fafad 5 9 o&@ma 379 ©

(1) <A = 9
(2) dEA -
3 T - 2
(4 THA - F
Options:-

.1, Option ID :- 661,
. 2, Option ID :- 662,
. 3, Option ID :- 663,

. 4, Option ID :- 664,
Answer Given:- 3, Option ID : -663

Question ID:- 167
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frfafea sl | ad+t &t gfe 3 33 o= 2

(1) fafe=
(2) AEiERE
(3) WK
(4) waferfq
Options:-

.1, Option ID :- 665,
. 2, Option ID :- 666,
. 3, Option ID :- 667,

. 4, Option ID :- 668,
Answer Given:- 4, Option ID : -668

Question ID:- 168

frefafaa wisal § 3a 958 7@ © -
(1) HEl

(2) AR

(3)

(4) HAMHHH

Options:-

.1, Option ID :- 669,
. 2, Option ID :- 670,
« 3, Option ID :- 671,

. 4, Option ID :- 672,
Answer Given:- 3, Option ID : -671

Question ID:- 169

'3q¥Ff%¥73ﬂﬂﬂI1$(Eﬂ?ﬁﬁﬂ1ﬁﬁﬂ?§”?%%:
(1) g - fyfa

2 4 - ¥ ™

3 3@ - ¥HHA

4) fa - foum

Options:-

.1, Option ID :- 673,
. 2, Option ID :- 674,
. 3, Option ID :- 675,

. 4, Option ID :- 676,
Answer Given:- 3, Option ID : -675

Question ID:- 170
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frfafad 5 yora =t gfie 9 sy 99

(1) 3 - W - IHE

(2) el - W - w™len

3 & - Y4 - HfH®

(4) - |y = Yl
Options:-

.1, Option ID :- 677,
. 2, Option ID :- 678,
. 3, Option ID :- 679,

. 4, Option ID :- 680,
Answer Given:- 1, Option ID : -677

Question ID:- 171

ffafad 5 397 #i gfie 9 3\ FH T

(1) = - 9

(2) s - fig

(3) U - g
(4 aH - g
Options:-

.1, Option ID :- 681,
. 2, Option ID :- 682,
. 3, Option ID :- 683,

. 4, Option ID :- 684,
Answer Given:- 4, Option ID : -684

Question ID:- 172

1R T T gfe | 1Ys 9
(1) 99 Hr 1 <dF 2

(2) AUl 4 91 e @Y E |
(3) 3T 1 T e T
(4) Hiar qUH @l Sl |

Options:-

.1, Option ID :- 685,
. 2, Option ID :- 686,
. 3, Option ID :- 687,

. 4, Option ID :- 688,
Answer Given:- 1, Option ID : -685

Question ID:- 173
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‘YRR Y9 He YIERHT TS 9 9 § WEifchd s

(1) faemm

(2) gfersrgm

(3) Teran-fesmm

(4) HoH
Options:-

.1, Option ID :- 689,
. 2, Option ID :- 690,
. 3, Option ID :- 691,

. 4, Option ID :- 692,
Answer Given:- 2, Option ID : -690

Question ID:- 174

"HrEgd 3T Yid 9 T HeH 1,

A1 HieHon Je 9 3G9 9 996’ - e gl § e ¢
(1) &9

(2) S

(3) FH*

(4) SUHI

Options:-

.1, Option ID :- 693,
. 2, Option ID :- 694,
. 3, Option ID :- 695,

. 4, Option ID :- 696,
Answer Given:- 2, Option ID : -694

Question ID:- 175

=4 4 9] # 3 forad 997 geityq fau sim g 9= ¢

(1) T

(2) ToFar
(3) ST
(4) 4HE
Options:-

.1, Option ID :- 697,
. 2, Option ID :- 698,
. 3, Option ID :- 699,

. 4, Option ID :- 700,
Answer Given:- 4, Option ID : -700

Question ID:- 176
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‘g S TR T el e o WS ©

(1) A
(2) ==Y
(3) G
(4) Hehard
Options:-

.1, Option ID :- 701,
. 2, Option ID :- 702,
. 3, Option ID :- 703,

. 4, Option ID :- 704,
Answer Given:- 1, Option ID : -701

Question ID:- 177

fefafea 9 s1edes foran g as §
(1) foar st s @&

(2) 1 @ oA T S

(3) facme dgA § @a @ |

(4) WSH TR HAREE

Options:-

-1, Option ID :- 705,
. 2, Option ID :- 706,
. 3, Option ID :- 707,

. 4, Option ID :- 708,
Answer Given:- 1, Option ID : -705

Question ID:- 178

‘Tefra i o Tdt B - 9 SRR B

(1) hreraras fra-faeron =
(2) TFETES foRa-fagrm
(3) difcarass foran-faeo =
(4) ufEmETEE fRa-faemm &

Options:-

.1, Option ID :- 709,
. 2, Option ID :- 710,
. 3, Option ID :- 711,

. 4, Option ID :- 712,
Answer Given:- 3, Option ID : -711

Question ID:- 179
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f=fafad § gt v ©

(1) HieEg
(2) wICHH
(3) Hdrd
(4) ETheie
Options:-

.1, Option ID :- 713,
. 2, Option ID :- 714,
. 3, Option ID :- 715,

. 4, Option ID :- 716,
Answer Given:- 1, Option ID : -713

Question ID:- 180

ffafaa | anee s B
(1) iR

(2) HHCH

(3) ®HERR

(4) HicTaig

Options:-

.1, Option ID :- 717,
. 2, Option ID :- 718,
« 3, Option ID :- 719,

. 4, Option ID :- 720,
Answer Given:- 1, Option ID : -717
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